Question 2. The wavelength of a photon needed to remove a proton from a nucleus which is bound to the
nucleus with 1 MeV energy is nearly

a)1.2nm (b) 1.2x 103 nm

(€)1.2x10°® nm (d). 1.2x 10 nm



Ans-(B)

h - .
E=hv= —f;whcrcc=-Speedof-ngm.'h-Hmk'scommt-6.6x 10>
J-sec, v = Frequency in Hz, A = the minimum wavelength of the photon
required to eject the proton from nucleus.
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According to the problem,
Energy of a photon, E = 1 MeV or 10° eV N
Now, hc = 1240 ¢V nm

he

Now, e

- A '
hc 1240

= I e— I —
E 10°

=1.24x10" nm



